
Wie lautet die fehlende Zahl (bis 100 000)?

Aufgabe 1

1. 87 892 -     =  27 283

2. 94 772 -     =  82 539

3. 66 310 -     =  34 588

4. 66 242 -     =  41 991

5. 76 312 -     =  42 332

6. 51 754 -     =  33 860

7. 81 916 -     =  29 829

8. 40 846 -     =  10 211

9. 87 593 -     =  75 766

10. 62 831 -     =  12 211

Aufgabe 2

1. 90 474 -     =  20 696

2. 91 462 -     =  54 230

3. 79 083 -     =  68 065

4. 85 292 -     =  40 748

5. 58 135 -     =  44 763

6. 41 073 -     =  25 874

7. 61 246 -     =  7 047

8. 73 385 -     =  40 688

9. 65 667 -     =  54 904

10. 94 950 -     =  29 648

Aufgabe 3

1. 81 350 -     =  42 572

2. 93 290 -     =  50 796

3. 93 288 -     =  30 781

4. 84 156 -     =  9 654

5. 95 451 -     =  11 457

6. 74 630 -     =  59 068

7. 54 860 -     =  17 151

8. 66 809 -     =  47 080

9. 25 849 -     =  14 622

10. 68 603 -     =  45 654

Aufgabe 4

1. 94 868 -     =  70 557

2. 67 961 -     =  12 924

3. 76 650 -     =  38 217

4. 66 398 -     =  16 468

5. 51 699 -     =  26 885

6. 53 789 -     =  34 168

7. 60 334 -     =  6 704

8. 77 427 -     =  10 692

9. 91 722 -     =  9 082

10. 47 152 -     =  20 114
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Wie lautet die fehlende Zahl (bis 100 000)?
| ANTWORTEN

Aufgabe 1

1. 87 892 -  60 609  =  27 283

2. 94 772 -  12 233  =  82 539

3. 66 310 -  31 722  =  34 588

4. 66 242 -  24 251  =  41 991

5. 76 312 -  33 980  =  42 332

6. 51 754 -  17 894  =  33 860

7. 81 916 -  52 087  =  29 829

8. 40 846 -  30 635  =  10 211

9. 87 593 -  11 827  =  75 766

10. 62 831 -  50 620  =  12 211

Aufgabe 2

1. 90 474 -  69 778  =  20 696

2. 91 462 -  37 232  =  54 230

3. 79 083 -  11 018  =  68 065

4. 85 292 -  44 544  =  40 748

5. 58 135 -  13 372  =  44 763

6. 41 073 -  15 199  =  25 874

7. 61 246 -  54 199  =  7 047

8. 73 385 -  32 697  =  40 688

9. 65 667 -  10 763  =  54 904

10. 94 950 -  65 302  =  29 648

Aufgabe 3

1. 81 350 -  38 778  =  42 572

2. 93 290 -  42 494  =  50 796

3. 93 288 -  62 507  =  30 781

4. 84 156 -  74 502  =  9 654

5. 95 451 -  83 994  =  11 457

6. 74 630 -  15 562  =  59 068

7. 54 860 -  37 709  =  17 151

8. 66 809 -  19 729  =  47 080

9. 25 849 -  11 227  =  14 622

10. 68 603 -  22 949  =  45 654

Aufgabe 4

1. 94 868 -  24 311  =  70 557

2. 67 961 -  55 037  =  12 924

3. 76 650 -  38 433  =  38 217

4. 66 398 -  49 930  =  16 468

5. 51 699 -  24 814  =  26 885

6. 53 789 -  19 621  =  34 168

7. 60 334 -  53 630  =  6 704

8. 77 427 -  66 735  =  10 692

9. 91 722 -  82 640  =  9 082

10. 47 152 -  27 038  =  20 114
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